2 EREMBSHHREAEHR
BRIREMEREBRR

1 GRIERHNE FR23%7H

2 AEER% #A1ME

3 AlEHr RINESHFI(ER)

4 HIE#IBZ Nal(TDPUFL—iarH—_RALA—4 TCS-1172
5 AEE =FEMESH

6 HIEHHR

() ®RHT—72 SH6E1B17TEAIE

i FBENE BEEEES AR HBEDHLE NENE Pl N
MEERFTTE %%1-6 BE&1-19 KiF3-29 AEDiA6-16 TFEAAR3-4
MRS 1m !'50cm! 5cm | 1m !50cm! 5¢cm | 1m 150cm! 5cm | 1m 150cm! 5¢cm | 1m !50cm! 5cm
1 Sv/h 0.06 006 006| 004} 003; 004| 006; 0.06; 0.07| 0.03; 0.03; 003]| 004; 004; 004
(2) BET—%
0.16
0.14 L i 111
e=@==50Ccm
0.12

5cm

(u/nsn) s

0.04
0.02
0
™ ™ ™ ™ ™
R A I SR SIS D P oS
AT AT AT ST AT AT AR DT AT AT DTS AT AT A BT AT A
1 #RENE
0.16
ey 1M
0.14
a=@==50cm
0.12
= 5cm
e O-1
# 0.08 %‘ S
-
(9]
0.06 ? e, —
< gy W
~ 0.04 —_—
e
0.02
0
'\/\’Q 'Q”'\/ \')/'V \9’/'\ q}\’o \',”'\/ \?"V \',”/\ %"\’Q '\,“'\’ x“"v \?/'\ b:-\’Q \‘?"y \‘?'v \i’l\ ’i”v 'f’/\ %'~\’Q '\?"\’
TR ST AT AT AP AT AT AT AT AP PP



X3 HEDOHLE




